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	(a)
Price – Variable = Cost Contribution margin per unit

	

	(b)
Let X = the number of units sold to break even

	Sales revenue – Costs = Income

	(Price * Quantity) – Variable costs – Fixed costs = Income

	

	

	

	

	(c)
Let X = the number of units sold to generate revenue necessary to earn pretax income of 20% of revenue

	Sales revenue – Costs = Income

	(Price * Quantity) – Variable costs – Fixed costs = Income

	

	

	

	

	Price * required units = Desired revenue

	

	

	(d)
Let Y = necessary increase in sales units

	Incremental sales revenue – Incremental variable costs – Incremental fixed costs = $0

	

	

	


